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1. 20% The input voltage of the following op amp is 0.01mV. The input bias current is OA, and the open loop gain is —200.

What is Vo?
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2. 20% The diodes in the following circuit have piecewise liucar parameters of Vr = 0.6V and I'f = 0. Determine the output

voltage Vo, the diode currents Iy, and Ipy; for the following input conditions: V1=10V and V2=0V.
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3. 20% In the following circuit, assume V=1V and Vg=1.7V. Solve «, f§, and V¢ ?

4.20% Q) and Q; have the same parameters as follows: V=2V, p,Cox=201A/V?, L=10pum, W=100pum, and A=0. Find Vp,, Vp,,

and Ipa
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5. 20% A cascade amplifier is shown in the following figure, in which both MOSFETs are identical. The relevant parameters
include the threshold voltage Vi = 1.2V and the conduction parameter K=0.81mA/V2,

The resistances of all capacitors are
neglected. Find Vs, Ingr, g, and Vo/Vs.
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